EXHIBIT A

Proposed Project Budget Boys & Girls Club of Marion County

Item	Cost	Quantity	Total
Touchless Drinking Fountain	\$1,435.00	2	\$2,870.00
Touchless Drinking Fountain - Installation	\$450.00	2	\$900.00
Plastic Youth Chairs	\$40.00	50	\$2,000.00
Vinyl Adult/Teen Chairs	\$129.00	25	\$3,225.00
Portable Bleachers	\$2,657.00	8	\$21,256.00
SMART Board 6000 Series	\$5,891.00	2	\$11,782.00
SMART Board Installation	\$625.00	2	\$1,250.00
Laptop/Desktop Computers	\$526.00	35	\$18,410.00
*HVAC Upgrade	\$2,500.00	6	\$15,000.00
Used Passenger Van	\$32,000.00	2	\$64,000.00
Total Proposed Project Costs			\$140,693.00

^{*}Verbal estimate due to limited availability of techicians to do site visit

Lenovo V15 IML 82NB 15.6" Laptop, Intel i3, 4GB Memory, 128GB SSD, Windows 10 Pro (82NB002RUS) | Staples

1/25/22, 12:44 PM

← <u>Back</u> <u>Home</u> > <u>Computers & Accessories</u> > <u>Laptops</u> More from <u>Lenovo Laptops</u>

Lenovo V15 IML 82NB 15.6" Laptop, Intel i3, 4GB Memory, 128GB SSD, Windows 10 Pro (82NB002RUS)

Item #: IM19DH156 | Model #: 82NB002RUS

\$525.99

1 each

O Delivered FREE by Thu, Jan 27 to Ocala, FL ✓

O Store pick up















Add to cart

Compare



Pay in 4 interest-free payments of \$131.50 with PayPal

Learn more



Staples Tech Services

From repairs to preventative maintenance, you can find the technological services to keep your PC, laptop or tablet in top shape when you need it most. Learn more

Highlights View full product details



Operating System

1/10

Lenovo V15 IML 82NB 15.6" Laptop, Intel i3, 4GB Memory, 128GB SSD, Windows 10 Pro (82NB002RUS) | Staples

Windows 10 Professional



Hard Drive 128GB SSD



Memory 4GB RAM



Graphics card
Intel UHD Graphics



Processor

2.1 Ghz Intel i3 processor



Display

15.6-inch 1366 x 768 resolution

New at Staples

Bundle & save even more

Save \$90.00 when purchased together:



Lenovo V15 IML 82NB 15.6" Laptop, Intel i3, 4GB Memory, 128GB SSD, Windows 10 Pro...

ជជជជជជ

\$525.99



McAfee LiveSafe Device Attach Antivirus Software for 10 Devices (1-10 Users),...

★公公公公1

\$119.99

Reg \$645.98 You save \$90.00

Total \$555.98

Add 2 items to cart

Details

About this product

Lenovo V15 G1 IML, Intel Core i3-10110U (2.10 GHz, 4 MB), 15.6 1366x768 Non-Touch, Windows 10 Pro 64, 4.0GB, 1x128GB SSD M.2 2280 PCIe TLC, Mineral Grey, Intel UHD Graphics, Wi-Fi 6 2x2 AX, Bluetooth 5.0, 0.3M& Dual Mic, 3 Cell Li-Polymer, 1CourierCarryin.

2.1GHz Intel Core i3-10110U dual-core processor with up to 4.1GHz speed and 4MB cache memory128GB SSD keeps your running programs active while your computer resumes from suspension in seconds

Works on Windows 10 Pro, 64-bit operating system for an intuitive and user-friendly interface

With 4GB memory, you can multitask between various applications without issue

3/10

Lenovo V15 IML 82NB 15.6" Laptop, Intel i3, 4GB Memory, 128GB SSD, Windows 10 Pro (82NB002RUS) | Staples

1/25/22, 12:44 PM

DDR4 SDRAM memory technology for high-performance solution

High-definition 1366 x 768 display: enjoy your entertainment in great quality and high-definition detail of 1 million pixels

Its 15.6" display offers 40% more viewable area than a 13.3" screen, so you have more room to spread out your work, and more space to enjoy your movie

Improved 802.11a/b/g/n/ac/ax 2x2 Wi-Fi antenna delivers a stronger, more reliable Internet connection than before

45Wh lithium polymer battery with a run time of up to 11.5 hours

1-year manufacturer limited warranty

Specifications

2-in-1	Not 2-in-1
Bluetooth Compatible	Yes
CPU Cache Size	4MB
Certifications	RoHS
Color Family	Gray/Silver
Computer Operating System	Windows 10 Professional
Computer Use	Business
Depth in Inches	9.9
ENERGY STAR Certified	Energy Star Certified
Expandable Memory (GB)	12

Family Model #	82NB
Hard Drive Type	SSD
Height in Inches	0.8
Installed RAM	4GB
Laptop Battery Type	Lithium polymer
Laptop Refurbished	No
Laptop Style	Notebook
Laptop Video Graphics	Intel UHD Graphics
Laptop Webcam	Yes
Laptop Weight	4 to 4.9 lbs.
Media Card Reader	SD, SDHC, MultiMediaCard, SDXC
Number of Video Output Ports	1
Processor Core Generation	10th
Processor Speed (Ghz)	2.1
Processor Speed (Up To Ghz)	4 to 4.9 GHz
Processor Type	Intel i3

1/25/22, 12:44 PM	Lenovo V15 IML 82NB 15.6" Laptop, Intel i3, 4GB Memory, 128GB SSD, Windows 10 Pro (82NB002RUS) Staples
SSD Capacity	128GB
Screen Resolution	1366 x 768
Screen Size (inches)	15.6
Series or Collection	V15 IML
Touch-Screen	No Touch-Screen
True Color	Iron Gray
Warranty Information	1 Year
Weight (lbs.)	4.1
Width in Inches	14.26
Wireless Connectivity	802.11/a/b/g/n/ac





PROMO



Used 2019 CHEVROLET Van, Passenger Van

EXPRESS G3500

☎ 56,300 Miles # P2589

\$36,690

Bomnin Chevrolet - West Kendall

Miami, FL

Popularity Stats

- Seen 22 times (last 30 days)
- Saved by 1 person
- ↓ The price recently decreased by \$3,300

Description

P2589 26,300 Miles

2019 Chevrolet Express 3500, Extended Passenger Van, CARFAX One-Owner. Clean CARFAX. Summit White 2019 Chevrolet Express 3500 LT Passenger RWD 6-Speed Automatic HD with Electronic Overdrive Vortec 6.0L V8 SFI Flex Fuel 2019 Chevrolet Express 3500 LT in Summit White vehicle highlights include.

Please contact our pre-owned Internet Sales Manager, for more information on this vehicle., LT, Passenger, Stock Number: P2589, VIN Number: 1GAZGPFG9K1291524

Details

Condition:

Used

Year:

2019

Make:

Model:

Class:

Category:

Location:

Fuel Type:

Rear Axles:

Unknown

Wheelbase:

155

Stock Number:

P2589

VIN:

1GAZGPFG9K1291524

Drivetrain:

Rear Wheel Drive

Engine Manufacture: GENERAL MOTORS

Engine Model:

Engine Size:

Weight:

6,001 - 10,000#

Transmission Speed:

Transmission Type:

Front Tire Size:

16R245

Rear Tire Size:

16R245

Color:

Summit White

Interior Color:

Medium Pewter

Doors:

3

Mileage:

56,300

Bomnin Chevrolet - West Kendall

Call 1-888-215-7065

Disclaimers

Commercial Truck Trader Disclaimer: The information provided for each listing is supplied by the seller and/or other third parties. CommercialTruckTrader.com is not responsible for the accuracy of the information. Please refer to the Commercial Truck Trader Terms of Use for further information.

